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QUESTION 1

You need to store the first name, last name, and student ID for 100 students. 

This information will be stored in a table as: 

A. 100 items and three cells. 

B. 100 rows and three columns. 

C. three rows and 100 columns. 

D. three items and 100 cells. 

Correct Answer: B 

 

QUESTION 2

This question requires that you evaluate the underlined text to determine if it is correct. 

A key defines the amount of storage space that is allocated to a value in a column. 

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct 

A. No change is needed 

B. format 

C. data type 

D. validator 

Correct Answer: C 

 

QUESTION 3

Data in a database is stored in: 

A. Tables 

B. Queries 

C. Data types 

D. Stored procedures 

Correct Answer: A 
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QUESTION 4

This question requires that you evaluate the underlined text to determine if it is correct. 

The UNION keyword combines the results of two queries and returns only rows that appear in both result sets. 

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct 

A. No change is needed 

B. INTERSECT 

C. ALL 

D. JOIN 

Correct Answer: B 

UNION combines the results from both queries. INTERSECT returns rows that are common to both queries 

 

QUESTION 5

The terms "bitmap," "b-tree," and "hash" refer to which type of database structure? 

A. View 

B. Function 

C. Index 

D. Stored procedure 

E. Trigger 

Correct Answer: C 
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